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Small test problems

HWS8/1
The Lagrangian of a two-dimensional isotropic harmonic oscillator reads as

L(x,%,y,p)= %m(x2 + yz)—%mwz(xz +3%).
Consider the following transformation
X(x,y,0)=xcos @+ ysin ¢ '
Y (x,9,0)=—xsin o+ ycos @
a.) How do the velocities transform?
X(x,%, . 7,0) =2
Y(x, %, ,7,0) =2
b.) Show that the Lagrangian is invariant under the transformation. (Show, that
L(X,X.Y,Y)=L(x,%,7))
c.) Using Noether’s theorem, derive the corresponding conserved quantity.

d.) Write down the equations of motion for the system.
e.) Show directly, that the quantity derived in c.) is indeed a constant of motion.

HWS/2
The Hamiltonian of a system with two degrees of freedom reads as

H(4,, P+ 9:- ) = 4P — 4, P, — 44; +Bg;.
where A and B are real parameters.
a.) Write down the equations of motion (Hamilton’s canonical equations) for the system..
b.) Consider the following quantities,
p—A4q,
E(q01-9550)) = ———+, ¢ Fy(q,- P 45- D) = 419,

2
Calculate the Poisson brackets [F;,H] and [F»,H]. Show that both quantities are constants
of motion.
c¢.) Calculate the Poisson bracket [Fi,F;]. Let F3 = [F,F;]. Is it a constant of motion?

Problems for practice

Pr8/1

A wire track is fixed to a cilinder (see Figure). A small body of mass m can
move without friction on the track The moment of inertia of the cilinder is ©,
and it can rotate around its axis. The position of the system is described by the
rotation angle ¢ of the cilinder and the position o of the body. The gravitational
force acts on the body.

The coordinates x,y,z of the small body is descrbied by

X=Rsina
y=—Rcosa,
z=C(a—¢)

where C is the vertical slope of the track.
a.) Construct the Lagrangian of the system.
b.) Show that the following transformation is a symmetry:

a=a+g,
P'=p+0



c.) Using Noether’s theorem, derive the corresponding conserved quantity.

d.) Determine the equations of motion of the system.

e.) At the moment =0 the system starts from the position o = 0, ¢ = 0with zero velocities.
Solve the equations of motion.

f.) Determine the value of the quantity in c.) and show that it is indeed a constant of motion.

Pr8/2
The Hamiltonian of a two-dimensional isotropic harmonic oscillator reads as

Consider the following (symmetric) matrix (7, j € {x, y})
1
2m
where we used the notation 7, = x and r, = y. This 2x2-es symmetric matric having 3 independent

components, Ay, Ay and Ayy.
a.) Calcuate the Poisson brackets [Ay., /] and [A,,,H], and show that these are conserved
quantities. What is the meaning of these quantities?
b.) Calculate the Poisson bracket /A4, H], and show that it is also a conserved quantity.
c.) Write down the canonical equations of motion.
d.) Search the solution in the following form.

x(f)=Bsn(wt+g,).,

V(1) =Csin( ot +6,)
e.) Determine B and C as a function of the A, and 4,, values.
f.) Determine the phase-difference g, —g, as a function of Ay, 4,,, and A4,,.

2 2
Aijz (p,p/»—kma)r,r/),

Pr8/3
M R Consider the Problem 2.) of class.

a.) Using Legendre transformation determine the
Hamiltonian of the system.

b.) Express the conserved quantity, that has been derived
in calss, using the canonical momentum and coordinates.
Denote it by A.

c.) Calculate the Poisson bracket [A,H], and show that the
quantity is indeed conserved.
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KisZh-an szerepelheto feladatok

HF7/1
Egy kétdimenzids izotrop haromikus oszcillator Lagrange-fliggvénye az alabbi alaku:

1 > =
L(x,v.,y, v},) = Em(xz + v),2 ba EmwzQz + y2 B
Tekintse az alabbi transzformaciot:
X(x,y,0)=xcos @+ ysin ¢ '
Y (x,y,9) = —xsin ¢+ ycosg

Crer

Vi(x,v,y,v,,0)="?

VY(xvvx’ yavyvq’) =?

b.) Mutassa meg, hogy a fenti transzformacié invaridnsan hagyja a Lagrange-fliggvényt, azaz
szimmetria! (mutassa meg, hogy L(X,V,.Y.V,)=L(x,v.,y,v,))

c.) Irja fel a Noether-tételt a fenti szimmetriatranszforméciora! Adja meg a szimmetridhoz
tartozé megmaradd mennyiséget!

d.) Irja fel a Lagrange-fliggvénybél kiindulva a rendszer mozgasegyenleteit!

e.) Mutassa meg kozvetleniil a mozgasegyenletekbdl, hogy a c.)-ben nyert mennyiség valoban
megmaradd mennyiség!

HF7/2
Egy két szabadsagi fokt rendszer Hamilton-fliggvénye az alabbi alaku:

H(4,, P+ 955 ) = &P, — 4,0, — 447 + Bqs;,
ahol A ¢s B valés allandok.
a.) Adja meg a rendszer Hamilton-féle kanonikus mozgasegyenleteit!
b.) Tekintse az alabbi mennyiségeket:
p—A4q,
E(q:01-9550)) = ———+, ¢ Fy(q,- . 45- D) = 414,

2
Szamitsa ki az [F,H] és [F,,H] Poisson-zarojeleket! Mutassa meg, hogy mindkét
mennyiség mozgasallando!
¢.) Szamitsa ki az [F,,F;] Poisson-zardjelet. Legyen F3 = [F1,F;]! Mozgasalland6 ez?

Gyakorlofeladatok

Gy7/1

Egy kor alapt hengerre egy spirdl alaku drétpalyat csévéltiink, amin egy m
tomegli gyongyszem surlodas nélkiill mozoghat. A henger tehetetlenségi
nyomatéka a szimmetriatengelyére @, €s a tengely koriil konnyen (surlodas
nélkiil) elfordulhat. A rendszer helyzetét a henger ¢ elfordulasaval és a
gyongyszem o helyzetével irjuk le. A gyongyszemre hat a kiilsd gravitacids
erdtér is.

A gyongyszem X.,y,z koordinatait a két szoggel az alabbi médon tudjuk
kifejezni:

x=Rsina

y=—Rcosa,
z=C(a-9)
Ahol C jeloli a spirdl menetemelkedését.




4
a.) Konstrualja meg a rendszer Lagrange-fliggvényét!
b.) Mutassa meg, hogy az alabbi szimmetriatranszformacié invaridnsan hagyja a Lagrange-

fuggvényt:
a=a+g,
P'=0+0

c.) Adja meg a szimmetridhoz tartozé Noether-féle mozgésallandot! Milyen jol ismert fizikai
mennyiséget kapott?

d.) Irja fel a rendszer mozgasegyenleteit!

e.) A t=0 idépontban az o = 0, ¢ = 0 pontbol inditjuk a rendszert, all6 helyzetb6l. Adja meg a
mozgasegyenletek megoldasat!

f.) Adja meg a c.)-ben kapott mozgésallando6 értékét az e.) feladat adatai esetén, ¢s mutassa
meg, hogy valdban alland6 az idében!

Gy7/2
Egy kétdimenzids izotrop harmonikus oszcillator Hamilton-fliggvénye az alabbi:
2 2
p p, 1 202, 2
H=""4+——-——mo (x" + .
2m 2m 2 ( v

Tekintse az alabbi matrixot! (7, j € {x, y})

~

2
-

1 2 2
A,j. =g(7,p, +m o,

ahol az ry = x és r, = y jelolést hasznaltuk. Ez lathatéan egy 2x2-es szimmetrikus matrix, benne
ezért harom fuggetlen matrixelem talalhato.
a.) Szamitsa ki az [Ax, H] és [A,, H] Poisson-zardjeleket, és ezzel bizonyitsa be, hogy a
matrix diagondlis elemei megmaradé mennyiségek. Mit irnak le?
b.) Szamitsa ki az [A, H] Poisson zardjelet, és bizonyitsa be, hogy ez is megmaradd
mennyiség!
¢.) Irja fel a rendszer Hamilton-féle kanonikus mozgésegyenleteit!
d.) A megoldast keresse az alabbi alakban:

x(f)=Bsn(wt+g,).,

Y1) = Csin ot +,)
e.) Fejezze ki a B és C konstansokat az 4,y és 4,, segitségével!
f.) Fejezze kia g, —g, kiilonbséget 4., 4,, és 4., segitségével!

Gy7/3
M R Tekintse a 8. gyakorlat 2. Feladatat!
a.) A Lagrange-fiiggvény Legendre-
b.) Fejezze ki a gyakorlaton levezetett Noether-
féle megmaradd mennyiséget (jeloljiik A-val!) a kanonikus
impulzusok €s koordinatak segitségével!
c.) Szamitsa ki az [ A,H] Poisson zarojelet, és ezzel
bizonyitsa ismét, hogy A egy megmarad6 mennyiség!




